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QUESTION 1

Management is asking for report describing all RTC users, team areas, team members and corresponding
process roles, as well as team area administrators for an RTC project area.

How should the report be created?

A. Generate Runtime Report using the RTC Eclipse client.

B. Use the "repotools-jts" utility with the "exportUsers" option.

C. Export users from the Team Organization View in the RTC Eclipse client.

D. Export the users from the "Active Users" menu on the JTS Application Administration Web Page.

Correct Answer: D

QUESTION 2

A development has organized the source code into components and found that there is a strong
dependency or containment relationship between two of the components.

What action could the development team take to establish this relationship?

A. Take a baseline of both components.

B. Update both component\\'s Properties view.

C. Utilize a work item to link both components.

D. Create the Child component as a subcomponent of the parent.

Correct Answer: B

QUESTION 3

A developer has been assigned the following roles, in order, for the project area:
Team Member

Stakeholder

and the following roles, in order, for the team area:

1.

Release Engineer

2.
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Developer

Deliver preconditions have been configured for the team area.

Which role is considered first during the deliver operation to a stream owned by the team area?
A. Developer

B. Stakeholder

C. Team Member

D. Release Engineer

Correct Answer: B

QUESTION 4

An administrator is designing the representation of the following: 1) which team is responsible for work items 2) in which
build the defects were discovered 3) the timeframe for the work item to be completed

Which of the following shows the correct relationships?

A. Categories: Found In Releases: Planned For Iterations: Filed Against
B. Team Areas: Planned For Releases: Filed Against Iterations: Found In
C. Categories: Filed Against Releases: Found In Iterations: Planned For
D. Team Areas: Filed Against Releases: Planned For Iterations: Found In

Correct Answer: D

QUESTION 5

A scrum master has defined an iteration plan and created several tasks for the plan. The assigned team
members are updating the tasks\\' attributes of Status, Estimate Correction and Time Remaining in the work
item editors.

How do these updates affect the plan\\'s Work Breakdown view?

A. The progress bars for each team member reflect the changes.

B. The view shows work items organized into columns based on status.

C. The tasks\\' ranks are updated automatically to reflect the updated attributes.

D. They don\\'t; the tasks must be modified in the plan editor to affect the plan.

Correct Answer: A
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QUESTION 6

Management has requested that two RTC evaluation servers and two RTC departmental servers be
deployed.

Each RTC server will have a firewall blocking access to jazz.net and requires different installation
packages.

What is the correct installation option?

A. use the Web Installer

B. use Enterprise Platform Installer

C. use IBM Installation Manager Repositories

D. use plain .zip files for the JTS and CCM Application

Correct Answer: C

QUESTION 7

A user wants to create an enumeration. There is a requirement to allow users with the appropriate
permissions to add new literals from the Work Item editor.

Where does the enumeration need to be stored?

A. Database

B. Process Template

C. Repository Workspace

D. Process Specification

Correct Answer: A

QUESTION 8

An administrator wants to make sure that time remaining on work items in a plan view are consistent with
the estimate.

Which plan check ensures this?

A. Invalid Estimate Check

B. Planning Problems Check
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C. Traditional Planning Check
D. Cross-Project Planning Problems Check

Correct Answer: B

QUESTION 9

A scrum master wants to determine if the team has enough time to complete the work planned for an
iteration.

What is used to assess this?

A. Plan\\'s Task Board View

B. Ranked List of work items

C. Load Bar in the Plan Details

D. Traceability View sorted by Estimate

Correct Answer: B

QUESTION 10

A project administrator wants to give only read access to an SCM component to two separate teams. How can this be
done?

A. Assign read only access to the component.

B. Assign the component ownership to both teams.

C. Change the Access Control of the component to the project area.

D. Create an Access Group with both teams and assign read only permissions for the component to the Access Group.

Correct Answer: B
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